++++++++++++++++ ]

)

45°'lik ahsap parga
45° wood part

45°'lik ahgap parga
45° wood part

Ayak basma borusu 2 Adet M8x20 civata ile sikilir T
Ayak basma,yan lamalardan gévdeye 4 Adet M8x16 civata, 4 Adet kapali somun ile sikilir.

Footrest must fix with 2 pieces of M8x20 bolts.
Footrest must fix from the side blades to the body with 4 M8x16 bolts and 4 closed nuts.

~

45°'lik ahsap parga 45°'lik ahsap parga
45° wood part L J]45° wood part

| k.
| ZEMIN/FLOOR

t

ZEMIN/FLOOR

Tezgah dik konuma getirilir, alt kumlu aynalar, ayna aski aparatlarindan asilr .

Unit must be placed in an upright position, the lower sanded
mirrors are suspended from the mirror hangers.

=

ZEMIN/FLOOR /

]

\\ ZEMIN/FLOOR

Tezgah tablasi 6 Adet 4x35 vida ile sikilir.

Unit shelf must fix with 6 pieces of 4x35 screws.

45° lik yuzeyler
Ust Uste gelecek

45° lik
monte parga

45°'lik J.hsap parga ﬁ h
45° wood part

3 45°'lik ahgap parcal j5°'lik ahsap parca
45° wood part 45° wood part

'/////////,\k

45° lik kesilmig
ayna arkasi

N\

45°'lik Ihgap parga
45° wood part

45°'lik ahsap parga
45° wood part

o 1 e I

~

45°'lik ahsap parga
45° wood part

45° lik parganin 6lgi
alinacagi ALT NOKTA

v\

ZEMIN/FLOOR / \\ ZEMIN/FLOOR

Ust aynalar aski aparatlarindan gévdeye asilir, led trafo baglantisi yapilir.

Upper mirrors are hung from the suspension brackets to the unit , LED transformer connection is made.

o e | NOIR ISLAND BAYAN TEZGAHI_ MONTAJ SEMASI / ASSEMBLY DIAGRAM TARIH: OLGOLER o fsanimetrsa)
— = IZIm ustunden olgu alinmamalidir.
gzzﬁér; Slbel MER'C 25.01.2021 Measurements are in cm.




